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Câu  trả  lờ i

1. 0,53

2.
5⁄9

3. 0,84

4. 0,56

5. 0,68

6.
4⁄9

7.
3⁄10

8.
6⁄7

9.
6⁄8

10.
3⁄4

Sử dụng dãy số để giải quyết từng vấn đề.

1) Số tiền nào lớn hơn, 
3⁄7 hay 0,53?
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2) Số tiền nào lớn hơn, 
5⁄9 hay 0,45?
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3) Số tiền nào lớn hơn, 
4⁄6 hay 0,84?
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4) Số tiền nào lớn hơn, 
4⁄10 hay 0,56?
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5) Số tiền nào lớn hơn, 
1⁄2 hay 0,68?
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6) Số tiền nào lớn hơn, 
4⁄9 hay 0,32?
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7) Số tiền nào lớn hơn, 
3⁄10 hay 0,18?
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8) Số tiền nào lớn hơn, 
6⁄7 hay 0,68?

0 1

.10 .20 .30 .40 .50 .60 .70 .80 .90

1
7

2
7

3
7

4
7

5
7

6
7

9) Số tiền nào lớn hơn, 
6⁄8 hay 0,64?
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10) Số tiền nào lớn hơn, 
3⁄4 hay 0,61?
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